R VCE & PDF https://www.geekcert.com/p2090-025.html
' 2024 Latest geekcert P2090-025 PDF and VCE dumps Download
g GeekCert.com

P2090-0259%AS

IBM InfoSphere MDM Advanced Edition Technical Mastery Test v2

Pass IBM P2090-025 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/p2090-025.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

@ After Purchase

@ Guarantee

O Free Update SKTISFACTION GUARANTEEp
@ Satisfied Customers

P2090-025 VCE Dumps | P2090-025 Study Guide | P2090-025 Braindumps 1/4


https://www.geekcert.com/p2090-025.html
https://www.geekcert.com/p2090-025.html
https://www.geekcert.com/p2090-025.html

VCE & PDF https://www.geekcert.com/p2090-025.html
2024 Latest geekcert P2090-025 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

Using probabilistic matching engine, Party A and Party B are identified as A1 suspect. There are contract roles
associated with Party A. There is no contract role associated with Party B. What happens after collapsing Party A and
Party B?

A. Both Party A and Party B are inactivated. A new Party C has been created. Contract roles previously associated with
Party A have beenreassigned to Party C automatically.

B. Party A is inactivated. Party B remains active. Contract roles previously associated with Party A have been
reassigned to Party B automatically.

C. Party A remains active. Party B is inactivated. Contract roles remain associated with Party A.
D. None of the above

Correct Answer: A

QUESTION 2

Which statements correctly describe the characteristics shared between MDM Classic Matching Engine and pME?
-Searching and Matching areperformed by a single class.

-Can use Data Stewardship Ul to investigate the suspect parties

-Both generate scores

-Suspects are identified as Al, A2, B, and C

Both generate indices to optimize matching party data

A.

[.and Il. and V.
B.

[I. and III.

C.

[.and IV.

D.

[I. and Ill. and V.

Correct Answer: B
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QUESTION 3

How are attribute values updated in party demographics native XML?
A. UPDATE SQL - entire XML is replaced

B. XPATH - specific XML value is updated

C. Spec version is updated

D. None of the above

Correct Answer: B

QUESTION 4

What is used by the Spec feature of MDM Server to define data structures?
A. XML

B. Database table

C. Property file

D. XSD

Correct Answer: D

QUESTION 5

Which two tables are used to store a Spec?
-ContactDemographics

-Spec

-ProductVal

SpecFmt
A.
(1) and (3)
B.
(2) and (4)
C.

(1) and (4)
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(2) and (3)

Correct Answer: B
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